H & 0l & AHS B Ml A

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

AT AR 8,873,675 6,886,275 1,987,400

S
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1,068, 141
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[
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9,234
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71,820
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S

M
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O Ax=2% 018d XAOI3)
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S

M H
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20,748
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S

M H
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3M: MsdE
=9 SE=33 (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O A= EBX2H 85 B4
36,000,000& 36,000
AT A|E 5,500,100 3,010,000 2,499,100
= 1,050,000
o 4,459,100
HEAIE &5 40,000 100,000 60,000
401 Al HIZL S 0HHI 40,000 100,000 60,000
01 AlZ8| 40,000 100,000 260,000
O AN&dE RIE* 20,000,000& 20,000
O orI=2sJ1+ &1 20,000,000 20,000
A ZEATXELRR AY(Z/HE)(HEALY) 3,013,500 2,130,000 883,500
401 AlEHIZ 201 3,013,500 2,130,000 883,500
01 Al&H| 1,500,000 2,130,000 A630,000
O gt S8ARXEE &4
1,500,000,000& 1,500,000
02 Zeltl 1,500,000 0 1,500,000
O 3AF 2teldl (8.57%)
1,500,000,000& *14] 1,500,000
03 Al 20HHI 13,500 0 13,500
O A& 20HYl (0.27%) 13,500,000 * 14| 13,500
Uietel= XMSUMIHLE A XA 700,000 700,000
308 AXIMSOIA 400,000 400,000
18 SIS U AEAIE 400,000 400,000
O Mseiea =S0HUHI SSAHL
400,000,000 400,000
401 Al HIZL R 0HbI 300,000 300,000
01 Al&HI 300,000 300,000
O JIEAIESAHAD], S8l &)
300,000,000 300,000
NEMEHBH BE2sE T8 (/) (HEAY) 1,155,600 300,000 855,600
= 450,000
[Ea 705,600
401 A& HIX R0 1,155,600 300,000 855,600
= 450,000
o 705,600
01 AlZ2H| 1,147,600 300,000 847,600
O ANHdEsESE=sdrd
1, 147,600,000 1,147,600
[ 447,600
Ea 700,000
03 Al 2CHYI 8,000 0 8,000
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M MsdE
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HE OFPE HESAHE/HE) (HEALY) 600,000 0 600,000
= 600,000
401 AIEHIZ SR OHYI 600,000 0 600,000
< 600,000
01 Al&H| 597,900 0 597,900
O && OF& HESA 597,900,000 597,900
= 597,900
03 Al 20HHI 2,100 0 2,100
O A=l (0.36%) 2,100,000 *14] 2,100
= 2,100
AEX0E 2,119,798 1,981,710 138,088
Il 200,818
== 6.240
o 1,912,740
fdEds A 60,000 101,314 A41,314
301 22N = 60,000 101,314 A41,314
Rzt - 2SFS2Eds 60,000 101,314 A41,314
O 2+HSH4 54 T
60,000,000 60,000
gt MEHSISX BiXI(OIS) 122,122 122,122 0
) 61,060
o 61,062
307 gl2to| & 122,122 122,122 0
Jl 61,060
s 61,062
02 QB AANEER 122,122 122,122 0
O gt HEHMSX A HHX
122,121,600 122,122
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= 61,062
UBLMEHS XS MM (=) 4,800 4,800 0
= 1,920
Ea 2,880
307 gl2to| & 4,800 4,800 0
= 1,920
o 2,880
02 QB AANEER 4,800 4,800 0
O eSS A MM
100,000 x4 = 1204 = 4,800
[ 1,920
T 2,880
LSS X =X BHXI 17,440 17,440 0
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02 LB HAHE X 17,440 17,440 0
O LSS At 17,440
- G250l 500,000 x4 23| x100f% 4,000
- WEH| 200,000 x4 = 1204 *100% 9,600
- sS4 80,0002 x4 » 1201 2 «100% 3,840
HE24 MEHSXI X BIXI(212) 213,713 213,713 0
Il 106,856
s 106,857
307 elztol & 213,713 213,713 0
Jl 106,856
Ea 106,857
02 2IZHBYAIHE A 213,713 213,713 0
O o248 MEHSNTK x|
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S 3,360
= 5,040
307 elzto| & 8,400 8,400 0
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O s+ g9sd s 4,285,000 *70% 3,000
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O Md320tetE0sl &0t
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